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1. Introduction
This contribution provides a text proposal to specify interruption requirements with E-UTRA – NR Dual Connectivity in TS36.133 for TS 38.133 version 0.3.0[1]. 
2. Text proposal for TS 38.133 v0.2.0
Section 8.2 in TS38.133 is updated as follows:
--------- Start of Changes---------
[bookmark: _Toc497476500]8.2	Interruption
8.2.1	Interruptions with E-UTRA – NR Dual Connectivity
8.2.1.1	Introduction
This section contains the requirements related to the interruptions on LTE PCell, NR PSCell and SCell in MCG or SCG, when 
NR PSCell is added or released, or
transitions between active and non-active during PSCell DRX cycle, or
PSCell transitions from non-DRX to DRX, or
SCell in either MCG or SCG is added or released, or
SCell in either MCG or SCG is activated or deactivated, or
measurements on SCC with deactivated SCell in either MCG or SCG
The requirements shall apply for E-UTRA – NR dual connectivity where the E-UTRA is the master (Option 3/3a/3x in TR 38.801 section 10.1.2).
This section contains the interruption requirements whose victim is NR PSCell and the activated SCell in SCG, and the interruption requirements whose victim is LTE PCell and the activated SCell in MCG are defined in TS36.133.
8.2.1.2	Requirements
8.2.1.2.1	Interruptions at PSCell addition/release
When a PSCell is added or released the UE is allowed an interruption of up to [TBD] on the activated SCell in SCG if configured during the RRC reconfiguration procedure in synchronous dual connectivity. This interruption is for both uplink and downlink of PCell. 
The UE is allowed an interruption of up to [TBD] on PCell and the activated SCell in MCG if configured during the RRC reconfiguration procedure in asynchronous dual connectivity. This interruption is for both uplink and downlink of PCell.
8.2.1.2.2	Interruptions at transitions between active and non-active during DRX cycle
When NR PSCell is in non-DRX and LTE PCell is in DRX, interruptions on NR PSCell and the activated SCell in SCG if configured due to transitions from active to non-active and from non-active to active during LTE PCell DRX are allowed with up to [TBD]% probability of missed ACK/NACK when the configured LTE PCell DRX cycle is less than [TBD] ms, and [TBD]% probability of missed ACK/NACK is allowed when the configured LTE PCell DRX cycle is [TBD] ms or longer. Each interruption shall not exceed [TBD].
 [When both NR PCell and LTE PSCell are in DRX, no interruption is allowed.] 
8.2.1.2.3	Interruptions at transitions from non-DRX to DRX
Interruption on NR PSCell and the activated SCell in SCG if configured due to PCell transitions from non-DRX to DRX when NR PSCell is in non-DRX shall not exceed [TBD].
8.2.1.2.4	Interruptions at SCell addition/release
The requirements in this clause shall apply for the UE configured with NR PSCell.
In synchronous dual connectivity, when one SCell belonging to MCG is added or released:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells in MCG being added or released;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell in SCG is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the activated SCell in SCG is in the same band as any of the SCells in MCG being added or released.
In synchronous dual connectivity, when one SCell belonging to SCG is added or released:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells in MCG being added or released;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell in SCG is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the activated SCell in SCG is in the same band as any of the SCells in MCG being added or released.
In asynchronous dual connectivity, when one SCell belonging to MCG is added or released:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells being added or released, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells being added or released;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being added or released.
In asynchronous dual connectivity, when one SCell belonging to SCG is added or released:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells in MCG being added or released;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being added or released, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being added or released.

8.2.1.2.5	Interruptions at SCell activation/deactivation
The requirements in this clause shall apply for the UE configured with NR PSCell and one SCell.
In synchronous dual connectivity, when one SCell belonging to MCG is activated or deactivated:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being activated or deactivated, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells in MCG being activated or deactivated;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being activated or deactivated, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being activated or deactivated.
In asynchronous dual connectivity, when one SCell belonging to MCG is activated or deactivated:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being activated or deactivated, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells in MCG being activated or deactivated;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being activated or deactivated, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being activated or deactivated.
In asynchronous dual connectivity, when one SCell belonging to SCG is activated or deactivated:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being activated or deactivated, or 
-	of up to [TBD], if the PSCell is in the same band as any of the SCells in MCG being activated or deactivated;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being activated or deactivated, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being activated or deactivated.
8.2.1.2.6	Interruptions during measurements on SCC
The requirements in this clause shall apply for the UE configured with PSCell and one SCell.
In synchronous dual connectivity, when one SCell belonging to MCG is deactivated, the UE is allowed due to measurements on the SCC with the deactivated SCell:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the PCSell is in the same band as any of the LTE SCells in MCG being measured;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being measured.
In synchronous dual connectivity, when one SCell belonging to SCG is deactivated, the UE is allowed due to measurements on the SCC with the deactivated SCell:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the PCSell is in the same band as any of the LTE SCells in MCG being measured;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being measured.
In asynchronous dual connectivity, when one SCell belonging to MCG is deactivated, the UE is allowed due to measurements on the SCC with the deactivated SCell:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the PCSell is in the same band as any of the LTE SCells in MCG being measured;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being measured.
In asynchronous dual connectivity, when one SCell belonging to SCG is deactivated, the UE is allowed due to measurements on the SCC with the deactivated SCell:
-	an interruption on PSCell 
-	of up to [TBD], if the PSCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the PCSell is in the same band as any of the LTE SCells in MCG being measured;
-	an interruption on any activated SCell in SCG:  
-	of up to [TBD], if the activated SCell is not in the same band as any of the SCells in MCG being measured, or 
-	of up to [TBD], if the activated SCell is in the same band as any of the SCells in MCG being measured.
--------- End of Changes---------


